fa teachersadda.co.in

f@% Navodaya Vidyalaya Samiti  addazy-

o.;:¢ (An Autonomous Body Under MHRD) Government of India
Roll No.
Participant

Name
Test Center
Name

Test Date
Test Time
Subject PGT GEOGRAPHY

Section : General (English & Hindi)

Q@1 Choose the word which is least like the other words in the group.
Ans x 1. Sapphh‘e
/< 2. Ruby

/< 3. Jasper
v 4 Marble

Question ID : 5096476654
Status : Answered
Chosen Option : 1

Q2 Select the most appropriate synonym of the given word.

SUFFICIENT
Ans & 1. meager

/X 2. excess

« 3 adequate
/5 4. scanty

Question ID : 5096476659
Status : Answered
Chosen Option : 3

Q.3 Fill in the blank with the most appropriate option.

A born trickster, he was as inclined to as an embezzler is inclined to fraud.

Ans X 1. ingenuousness

/< 2. bravado




+ 3. chicanery
< 4 candor

Question ID : 5096476649
Status : Answered
Chosen Option : 2

Q4 Fill in the blank with the right option:

All great thinkers live and a high plane of thought.

Ans  of 1 move on
< 2. move at
< 3. move with

/< 4 move by

Question ID : 5096476651
Status : Answered
Chosen Option : 1

@5 Fill in the blanks with the right option:

We are not to the idea of moving to Mumbai.
Ans  of 1 averse
< 2 aversion
# 3 advise

/< 4 adverse

Question ID : 5096476655
Status : Answered
Chosen Option : 2

Q.6  Fill in the blank with the correct option.

The new jobs that a result of governmental incentives to large co-operations.
Ans 1. are being created come
o 2 are being created come as

x 3. were created to come

x 4. are created to come as

Question ID : 5096476648
Status : Answered
Chosen Option : 3

Q.7




Ans

Select the most appropriate option to fill in the blanlk.

They wanted to know  I'was still prepared to work on the project.
K1 asif
v if
/< 3 that
< 4 even if

Question ID : 5096476656
Status : Answered
Chosen Option: 3

Q.8 Select the most appropriate phrase that can substitute the underlined words in the given sentence.

Ans

This building is being demolished so that a five-star hotel can be built here.

/< 1. pulled in

7< 2. pulled up

+ 3 pulled down
/< 4. pulled through

Question ID : 5096476662
Status : Answered
Chosen Option: 3

Q.9

Ans

Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

. the willingness and ability of the police
in their most
Sunday’s operation also established

. remote and safest havens
to strike at the Maoists

& 1. CBEDA
v 2. CAEBD
& 3. CEDBA
« 4 CDABE

moowe

Question ID : 5096476661
Status : Answered
Chosen Option : 4

Q10 gSelect the most appropriate option to fill in the blank.

Ans

Colonel Sharma has a haveli in his village in Rajasthan.

#< 1. red stone large
/< 2. red large stone
« 3. large red stone




/< 4. large stone red

Question ID : 5096476657
Status : Answered
Chosen Option : 3

Q.11 Fill in the blank with the most appropriate option.

Paradoxically, the very admonitions intended to reform the prodigal served only to

Ans 1. turn him from
#< 2. transform
#< 3. distress him about
« 4 reinforce

his wicked ways.

Question ID : 5096476650
Status : Answered
Chosen Option : 2

Q12 Fi| in the blank with the correct option.

He move the bags himself.

Ans X 1. has
#< 2. had been to
#< 3. have to
« 4 has to

Question ID : 5096476652
Status : Answered
Chosen Option : 4

Q.13

Ans

7< 2 In corner of room stand wooden large cupboard.

Choose the correct sentence from the options given.

/< 1. In a corner of the room standing a large cupboard of wood.

#< 3 In a corner of the room stood a wooden large cupboard.

« 4 In a corner of the room stood a large wooden cupboard.

Question ID : 5096476643
Status : Answered
Chosen Option : 4

Q14 gelect the most appropriate meaning of the underlined idiom.

Recently, he has been giving airs to himself. I don’t know, why.

Ans X 1. feeling very happy

/< 2. needing change of climate




/< 3. not feeling well
+ 4 behaving arrogantly

Question ID : 5096476660
Status : Answered
Chosen Option : 4

Q@15 Choose the correct sentence from the options given.

Ans 3 1. The volume is comprises of twenty papers.
« 2. The volume comprises twenty papers.
/< 3. The volume consists twenty papers.

#< 4. The volume comprises of twenty papers.

Question ID : 5096476644
Status : Answered
Chosen Option : 3

Q16 Choose the correct option to complete the sentence:

Mani was found fighting desperately her life.
Ans X1 on
v 2 for
X 3. with
< 4 to

Question ID : 5096476653
Status : Answered
Chosen Option : 2

Q17 Select the option that expresses the given sentence in reported speech.

Munna asked me, *When will you visit us again?”
Ans 3¢ 1. Munna enquired of me when will you visit us again.
« 2. Munna enquired of me when I would visit them again.
/< 3. Munna enquired of me when I will visit them again.

/< 4. Munna enquired of me when he would visit us again.

Question ID : 5096476658
Status : Answered
Chosen Option : 4

Q.18




Fill in the blank with the correct option.

While I was crossing the street, killed me.
Ans X 1. a sport vehicle-utility almost
/< 2. asport-utility vehicle
+ 3. a sport-utility vehicle almost

7< 4. a sport-utility vehicle mostly

Question ID : 5096476647
Status : Answered
Chosen Option: 3

Q19 Fill in the blank with the correct option.

All primitive societies of trade.
Ans 1. organisational forms
+ 2. need organised forms

/< 3. need forms

/< 4. need organisation

Question ID : 5096476645
Status : Answered
Chosen Option : 2

Q20 Fj| in the blank with the correct option.

The numberof ~ adults has increased from 1998 to 1999.
Ans X 1. violence crime involve

< 2 violence criminal involve

#< 3. crimes involve

« 4. violent crimes involving

Question ID : 5096476646
Status : Answered
Chosen Option : 4

2 T FES sEA| # FiF A1 s 27
e K seeT e

X 2 Y HFR

X 3 ITAT HAFR

v FF HAFRT




Question ID : 5096476681
Status : Answered
Chosen Option : 4

122 domy I TeaTH N AT IFAY F BT TF =g g
X

X 2 et

v e

< 4 reTicRs

Question ID : 5096476676
Status : Answered
Chosen Option : 3

W smwr @R R a9 & BT 9gFd @ e o &
Ans 1. o

X > g

< 3 gofa

v

Question ID : 5096476665
Status : Answered
Chosen Option: 1

2 e @ =R 0w AR
ws X1 sl

X2 7T Al

X o RfEE

v 4 et

Question ID : 5096476673
Status : Answered
Chosen Option : 4

0% Efer gfeenT 1 Fia @ T anE

s X AT - AT
v 7 Ferer - F=en
< 3 oree - aifEaEr
X4 B - Al




Question ID : 5096476682
Status : Answered
Chosen Option: 2

Q26 fomr S FY AR G qA A AT F AR g R o F wgEa g i

Ans X1 Y
X 2 faSelr FT ar
v 5 e
X 4 mraeT =Er

Question ID : 5096476664
Status : Answered
Chosen Option: 3

¥ =t # Aw BE EY F @ 2
K T wfY

X2 gy =fY

v mx EE

X 4 zoT F®er

Question ID : 5096476668
Status : Answered
Chosen Option : 3

OB AT e T Y Ter § T WA
e X gREEe
X 2 SgaEd

<3 RE=e
W 4 ThaEA

Question ID : 5096476671
Status : Answered
Chosen Option : 4

% e g 7 T ST OF S F @ v oes g@em

A o1 R
X2 aviea
X3 I
X 4 R

Question ID : 5096476677




Status : Answered
Chosen Option : 1

Q.30

PR FAT ¢ Har aare & e sfa ggew gem
Ans of 1 ST AR

X 2 gy P

X3 TH § AF 7 g

X 4 AFY T gATEAT 33T

Question ID : 5096476680
Status : Answered
Chosen Option : 3

! @ qfeenT e 37

e X s
< 2 FgrEar

3. HISA

=

<4 T

Question ID : 5096476663
Status : Answered
Chosen Option: 3

Q.32 w1y oreE F sgEEA (FaiEd e aem

Ans «i_lm'g_g
X 2. wTIH
Xs.m!g}ﬁ

X g

Question ID : 5096476670
Status : Answered
Chosen Option: 2

Q33 R & a5 i @ 3 S B I H i wem B AT F wgEw g

Ans ?‘ﬁ- E§H w
K 2 el
' © JTRUT
X4 Eow

[ Question ID : 5096476674




Status : Answered
Chosen Option : 3

¥ fashe erme 1 FT @ g W@

Ans

A1 HER - RBER
& 2 FeToT - TaerefoT
V'3 3TEET - T
< 4 Erar - g

Question ID : 5096476679
Status : Answered
Chosen Option: 3

O FufEEr & g w7 R
ans oy AT TR

X 2 JaEar

g

&< 4 gradr

Question ID : 5096476672
Status : Answered
Chosen Option : 3

% yfagfte w e
s o e

v 2 FHAgRE

X+ sEeRe

x4 e

Question ID : 5096476678
Status : Answered
Chosen Option : 2

X 4 s Thee

¥ oo ST BT T SWAT IO ¥ BT TR U &
e X1 maa e

X 2 EIET

v Ay




Question ID : 5096476667
Status : Answered
Chosen Option : 2

¥ arger ik guler @ F O ygEd @ T e
Ans «1,3;[

Xz.aﬂm
K s oEer
< 4 ey

Question ID : 5096476675
Status : Answered
Chosen Option: 1

3 rger 7 FEr 3k e @ Ty F B v o &

Ans

< HGASIE
W 2 FFOHTER
X 3. Hleregh

X & Faaeniame

I

Question ID : 5096476666
Status : Answered
Chosen Option : 2

W oy B R ¥
s XK iR

v FE S e

X o g ¥ ot R
X o g farei

Question ID : 5096476669
Status : Answered
Chosen Option : 2

Section : General Awareness

¥ zfrd diz SR FE AT # S o
Ans - X1 iR

X 2 qrefergs

V'3 e

X 4 ST




Question ID : 5096476696
Status : Answered
Chosen Option : 3

2 ¥Teww FESFEISs FT AT A1 #4782
A X S A

v 2 ST L

& 3. HIYRUT dHF

X 4 JfdeT FreT

Question ID : 5096476706
Status : Answered
Chosen Option: 1

Q3 Gr=fefea F @ fw osg & a¥ 2007 & T e3E20 fpse At Sar
Ans X 1. gf@roT anhrer

X 2 Fg=iets

Vo g

X 4 arfereaa

Question ID : 5096476692
Status : Answered
Chosen Option : 3

Q4  Which Indian state has the highest population of scheduled caste people?
Ans 1. Punjab

#< 2. Maharashtra

/< 3. Rajasthan

« ‘4 Uttar Pradesh

Question ID : 5096476708
Status : Answered
Chosen Option : 4

Q.5 wHEROT e HEEE (FWaE) 2018 H A 180 i F 99 TrafafEw & ¥ Fi9 @ vaw feam
T g

X 1180 &t
V2177 =
X'3.105 &r
X411 ar

Ans

[ Question ID : 5096476687




Status : Answered
Chosen Option: 3

Q6 rfae figrant e T @ F R e & e 3
A o ofrEAe el

X 2 3EAE SR FHA

X o 9fsa RapaAR oA

X 4 STEAwE T

Question ID : 5096476711
Status : Answered
Chosen Option: 3

Y RPfeRd F @ #lF @ Q9w K FT § geia 87
e K. s

X2 defiies

X i

v e

Question ID : 5096476691
Status : Answered
Chosen Option : 4

Q.8 fr=fafea # & fbw o=y & a¥ 2018 & awAWT &R & B FAT 719, 37A77 B (@A oifT, gAa
fo=ra) aFs vF A FEA oF TR

Ans X1- ﬁ%’ﬂ'
<2 A
X 3 ¥EA
v 4 e

Question ID : 5096476690
Status : Answered
Chosen Option : 3

Q.9 has announced that it has clinched a deal with India on the reduction of tariffs (impert duties) on Indian

medicines including anti-cancer drugs.

Ans 1. South Korea
v 2 China
#< 3. France
7< 4. Japan

Question ID : 5096476703
Status : Answered




l Chosen Option : 4

Q.10 faox anfie = (WEF) Z@RT % 1 7% Wt GO & v weee § & ey 5694 § 5w e
9T gem?

Ans x1_ (—_“—%l.a];r
X 2 e
XK o FHemR

v i TEgeatels

Question ID : 5096476686
Status : Answered
Chosen Option : 4

Q.11 T=fofm & @ w7 o dod=e, TeT Toreeg T9es (WHO) SaT 9ger & 49T g Jrel, a & 98
ool Tefae S9e & e

Mo X e
V2 Jerde
X vt
X ¢« e

Question ID : 5096476685
Status : Answered
Chosen Option : 2

a1z ToiEe Fefic deaw H T W a¥ # g o

Ans X 11991
X 2 1971
v 32003
X 42010

Question ID : 5096476702
Status : Answered
Chosen Option: 1

Q13 The world's largest solar park ‘Shakti Sthala’ is situated in:

Ans X 1. Uttar Pradesh
' 2. Karnataka
#< 3. Himachal Pradesh
< 4 Bihar

Question ID : 5096476688
Status : Answered
Chosen Option : 2




Q.14 fe #, fadgeax 2017 & At e Wi aais A9gaRy =@ € g axde Gendr o s
Ans x1wm

v 2 Rregames M

X3 dr gigpsom

<4 R HftEA

Question ID : 5096476693
Status : Answered

Chosen Option : 4

Q15 s TEw FEW ¥ AT # ¥ FE o9 § s awsls # Al & 7 9

X1 1934, Had
X 21929, =mERx
V'3 1931, FTr=h
X 4. 1933, Frererrdr

Question ID : 5096476695
Status : Answered

Chosen Option : 3

Q16 SoaffET & ¥ BFw wgT &, 21-23 F=a1r 2019 = waEr §RaT fEw #amm ar?
Ans 1. gEAT

v 2 FRoTET

X 5 TR

X4.qJ'UT

Question ID : 5096476712
Status : Answered
Chosen Option : 2

Q.17 Which of the following articles of the Constitution of India deals with equal justice and free legal aid?
Ans 1. Article 78

X 2. Article 52

#< 3. Article 86

v 4 Article 30A

Question ID : 5096476699
Status : Answered
Chosen Option : 4

Q18 w3t ¥ Brw gfawr 9F v gur Fr fenfier & Afepare & e s R e
IR & % T g Few # Wive S W FRA e 9 87
Ans




< 4 FerfRET

Question ID : 5096476683
Status : Answered
Chosen Option: 1

Q.19 diwes Tedt & A=Ee i @ IR F e U flgihd it S s ¥ RRE A @ S S 87

Ane o1 ogEhEl
A2 darer
< 3. s

X 4. dsvere

Question ID : 5096476705
Status : Answered
Chosen Option : 1

Q.20 ot @ wie & s o, Fed @ TR oEI ATl glern i wwE A TR Afger aw 7 £?

e X afeun A
X 2 37eiar S

o FEET FHersHult

X 4 =ar &ar

Question ID : 5096476684
Status : Answered
Chosen Option : 3

Q21 T=ffs & 3 B Fer 3 ana 3R BF F e femw & &= T gier i ggger &

FEET & I BIE F W TESET A (THE) W gEaer He?

e X wiRe SR
X2 g asa
X o R Rt
v e SR

Question ID : 5096476704
Status : Answered
Chosen Option : 4

Q.22

Ans

Which of the following statements is correct?




Ko

A member of the Lok Sabha submits his resignation to the Attorney-General.

X 2

A member of the Rajya Sabha submits his resignation to the Attorney-General.

v

A member of the Lok Sabha submits his resignation to the Speaker of the Lok Sabha.

X 4

A member of the Rajva Sabha submits his resignation to the Prime Minister.

Question ID : 5096476700
Status : Answered
Chosen Option : 3

Q23 1ndia's first heli taxi service was launched in 2018 in:
Ans X 1. Jammu
< 2. Pune

+ 3. Bengaluru
< 4 New Delhi

Question ID : 5096476689
Status : Answered
Chosen Option : 3

¥ = ¥ FiT AT # Y T3 38T T 27
e RafE S

X 2. Frelteer e

X 3 OTsR Free =

X 4 gferere e

Question ID : 5096476710
Status : Answered
Chosen Option : 1

Q.25 The book ‘Padshahnama’ is written about which of the following Mughal emperors?
Ans X 1. Humayun

' 2 Shah Jahan

/< 3. Jahangir

< 4 Akbar

Question ID : 5096476694
Status : Answered
Chosen Option: 1

N E FEER, ERRT I me e




Ans X1~ l:f a
v 2 g
X3 Tar
X4 EafEe

Question ID : 5096476707
Status : Answered
Chosen Option : 2

Q27 siRemarg & A & FEr FeARfE & @ O 9w gEe # oo @ F g e
Ans X 1. SgTgT ATE AT

X 2 FEET

v e

X 4. M HTeTH

Question ID : 5096476697
Status : Answered
Chosen Option: 3

V% i e g T fRva B2
s X e
W 2 AAFHIR

B =

Xslﬁaﬁ?ﬁ'
X 4 qaf =T

Question ID : 5096476709
Status : Answered
Chosen Option: 1

% sa & FRuE # seEoe 40 s ¥ Rww TeftE ¥
e X1 Rt F R

X 2 FH FT AOFR

X 3 fEw & T B F Fegd A

v 4 ITE TEEat O EIsT

Question ID : 5096476698
Status : Answered
Chosen Option : 4

Q.30 According to Article 85 of the Constitution of India, can prorogue

Ans




/< 1. The Prime Minister; the Rajva Sabha
« 2. The President: the Rajya Sabha

/< 3. The Attorney-General; the Lok Sabha
#< 4. The Vice-President; the Lok Sabha

Question ID : 5096476701
Status : Answered
Chosen Option: 2

Section : General Aptitude

Q1 g 5a:20=3:23T3b:7c=5:7a, a a:b:cH A= Aol & 7 Fas su=T g=m?

Ais of1.3:5:3
X25:7:3
R3g:25:13
X45:3:7

Question ID : 5096476736
Status : Answered
Chosen Option : 2

Q2 X 3 =X & 9T F W T W T §| 2 km T F G, IF A0 J5ar § AR 6 km TwT F
T E, T8 U AC J3H 10 km B gl 77 Fa §1 X H9 W F B @ w

Ans X1 6 km
<2 8 km
X 3 14 km
v 410 km

Question ID : 5096476723
Status : Answered
Chosen Option : 4

Q3 Find the ODD one out:

Shirt, Kurta, Coat Dhoti
Ans X' 1. Kurta

v 2 Dhoti

#< 3. Coat

& 4 Shirt

Question ID : 5096476725
Status : Answered
Chosen Option : 2

Q4




T # © 37 39 SEETH IO 1 ST A BT A0 g9 & 9 & 99 & gedl # e =S
& T gl Er gl

Ans

P

O

X
©Q

v

X
e (&
(D

Question ID : 5096476714
Status : Answered
Chosen Option : 4

Q.5 75 ort & wF FET #, 44% w=% ¥ 3k oW s | a= o7 sitae 3w 66 st et e i 72
g1 o e 7 A 3w e £

Ans X 1. 68.82
v 2 69.36
X3 70.24
X 4 68.56

Question ID : 5096476738
Status : Answered
Chosen Option : 4

Q6 Select the figure that is different from the rest in some respect.

Ans
X1 \

< 2

XaX




Question ID : 5096476713
Status : Answered
Chosen Option : 3

Q.7  The difference between compound interest and simple interest on ¥ 20,000 for two vears at x% per annum is T 512,

‘What is the value of x 7

Ans o 1. 16%
< 2 10%
X 3 14%
K4 12%

Question ID : 5096476737
Status : Answered
Chosen Option : 4

Q.8 @a;n‘ra‘raﬂﬁﬁA,B&ﬁ?cﬁrm4:6:9#3@%#%@@%!1?3&%@@,#72@1&

T FH W F TES §1 C A 37 FH # 50% FEm o faw ge & @ wY e 82

Ans  of 1. 76
X2 114
X3 57
X 4 95

Question ID : 5096476742
Status : Answered
Chosen Option: 3

Q9 et ARBA I AT F I Fmn 5: 7 3 5 s A FI3: 2 5%
e # T Fr €1 5% BAvT & 100 mL O # 3w AR A # g 1 2 a9 F R

sEH T a7 F S e ge?
Ans 1. 40 mL

v 2 20 mL

'3 30 mL

X 4 25 mL

Question ID : 5096476740
Status : Answered
Chosen Option: 3

Q.10 3pw ¥oT FF T o F I AR W@ AT §, o 50 e f mE A == (9o & of)

=T 7 & #i= gefe?

PD98TRSBX

e X X6SWI89Ad




v 2o02iTeedqd
x5 X9S¥186dd

x« XQ2ATedA9

Question ID : 5096476715
Status : Answered
Chosen Option : 4

Q.11 (33)%9 4 (52)21 — (27)% Fr Fo7 07 TT TTF 5FE TR T NS 9% 37 & 77 awma § &
g IOeT gem?

Ans X1 B
X227
X34
VAN

Question ID : 5096476730
Status : Answered
Chosen Option : 2

Q.12 o =fEm, P, Q R, S #X T, v wieeR d@a & 90 AR Hx & A7 w0 35 §1 S, R % 8k @
A3 IR PARQFIT T T, P & a5 3T & g0y = W &1 T % & a0 +Hie 337 82

s S
<2R
X3P
<4 Q

Question ID : 5096476724
Status : Answered
Chosen Option: 1

Q13 T oeal 3T U 3PS eSS F A I H § g

Vertical | Volcano | Viola | Veteran | Vertebra
1 2 3 4 5

Ans  of1.5, 1, 4,3,

N 21,32 4
Nd 1,2 5
<42 31,4,

g W oM

Question ID : 5096476719
Status : Answered
Chosen Option : 1




U i e afER &, & 37 RE F S T o 27 g
Ans (1m

X 2 AR

A3 IfEr

?(4.§E$EHT

Question ID : 5096476726
Status : Answered
Chosen Option : 3

Q.15 A person marks his goods, 60% above cost price. He sells 40% goods at 10% discount, 35% goods at 20% discount and

remaining at X% discount. If his overall profit percent is 30.4%, what is the value of x ?

Ans  of 1. 30%
X 2 25%
< 3. 40%
X 4 35%

Question ID : 5096476739
Status : Answered
Chosen Option : 3

Q.16 Tr=fafT & & 58 wa® B TE & o F AT G &, O 695862 # ue quT a9 & &

Ans X111
X215
v 13
X49

Question ID : 5096476728
Status : Answered
Chosen Option : 4

Q17 Prafaf@d 4uen # v R (?) § T W 7S Jo &heT & 9ar e |

11, 12, 13, 15, 15, 18, 17.?
Ans X120

<219

X318

v 4 21

Question ID : 5096476722
Status : Answered
Chosen Option: 1

Q.18




ABCDENNFuFMTwR e A3 AR AU IT W EI A N B o gl & 798 g7 98
FIEdRCmgm $FRla & § F, E & aw & 5oy e W 31 §1 E & & aw #ix a1 32

Ans X1B

A
vs3D
F

Question ID : 5096476716
Status : Answered
Chosen Option: 1

Q.19 What is the sum of digit of the least number. which when divided by 15, 54, 16 and 12 leaves the same remainder 4 in
each case and is divisible by 19?

Ans of 113
<2 14
K315
X4 16

Question ID : 5096476734
Status : Answered
Chosen Option : 3

Q20 2500x 77° F THIUS F FoT TEA F A ARG T F FHEF W @em?
Ans of 1. 360

< 2 540

# 3 60

#< 4 90

Question ID : 5096476733
Status : Answered
Chosen Option: 3

921 0.7 +0.489—- 0532 # AT e & ¥ s su g
Ans of1.0.7354

X2 0.735

X3 0.695

X 4 0.725

Question ID : 5096476732
Status : Answered
Chosen Option: 3

Q.22 groRer == T 3 g6 A v AT oSO T w 130% B S ¥ A wehaty s % &9 F 3
et % fore ¥ 16,000 e fyr oT For sarer o gem?

Ans o1 T 5296




< 2 T 5236
/<3 T 5138
<4 T 5186

Question ID : 5096476731
Status : Answered
Chosen Option : 1

Q.23 Taf@a & € 37 BT & 9o &7 = 91% 92 ¥ 8% 387 %N §9d £, 9 Y8R 98T 9
gmY 98 ¥ wEled g

A w7 g

i o e TR A
X 2 Fifgenstew
X3 Hr

X 4 miesarsfeg

Question ID : 5096476720
Status : Answered
Chosen Option : 1

Q24 1 , ' ' & ¥ oun 16 i F DsSeRERceTT A7

4 =10 10x 16 16 x 22

Question ID : 5096476729
Status : Answered
Chosen Option : 3

Q.25 v =mf@F 100 km Fr gfr 60 km/h Fr a1fy & 3T el 150 km F 2 x kb B AT T FT FAT
¥ 3PR 3w i e Fr stwa wfy 50 kmvh o, & eafafEE & ¥« F Ae feaer g

Ans of 1. 45
K2 44
X3 43
X4 42

Question ID : 5096476741
Status : Answered
Chosen Option: 2

Q.26




TraffEm & & 37 fees &1 wow w1 o S|t o ¥ &% 3 yeR Teid § B TR R e
9ge oreg ¥ mefeT §

Breall : =15 g 2
e X1 fEeflesT guar
X o fnr
v s e
LA

Question ID : 5096476718
Status : Answered
Chosen Option : 3

Q.27 v wem F, Fow 7R G 118 H# A F 278 T W § F AT G @ R wen F g e
B §7
ans X132
< 2 40
<3 35
v 4 37

Question ID : 5096476727
Status : Answered
Chosen Option : 4

Q.28 Tr=fafEa § @ 37 ey & = & St Sl Jew @ 8% 30 uER 99 &, O 9eR gmdr
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Question ID : 5096476717
Status : Answered
Chosen Option : 2
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Question ID : 5096476735
Status : Answered




l Chosen Option : 2

Q30 Pefafad swen # v REd (?) & TUE W 3 T FheT & 9ar e

121, 129, 156, 220,?
Ans 1,300

v 2 345

X< 3 356

X 4 296

Question ID : 5096476721
Status : Answered
Chosen Option : 2

Section : Teaching Aptitude

Q.1 Which of the following gives a more meaningful real life situation for teaching mathematics in a classroom?

Ans o 1. Daily attendance of students.
/< 2. Solving word problems given in the textbook.
/< 3. Adding numbers on the board.
/< 4. Copying the addition problem into the notebooks.

Question ID : 5096476751
Status : Answered
Chosen Option : 3

Q2 How does science writing oceur in a classroom?

Ans X 1. Interaction between teacher and learners

' 2. Note book entries
/< 3. Science talks

/< 4. Small group discussions

Question ID : 5096476749
Status : Answered
Chosen Option : 4
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Question ID : 5096476761
Status : Answered
Chosen Option : 2

Q.4 Which of the following is a shift proposed in social sciences instruction by the National Focus Group constituted by
NCERT in 20067

Ans x1.

From the community being external to being internal to a school.

#< 2. From the classroom being exclusive to being inclusive.

X 3
A teacher moving away from being a mentor to becoming a guide.
v

From text book as the only source of instruction to text book as a suggestive way of instruction.

Question ID : 5096476756
Status : Answered
Chosen Option : 3

Q.5 According to the theory of cognitive development, an external factor for a child paying attention in a classroom is:

Ans x 1. Memory
#< 2 interest
' 3. competitive spirit

/< 4. forgetting

Question ID : 5096476743
Status : Answered
Chosen Option : 2

@6 A major discipline under the family of social sciences is:
Ans 5 1. language with society as a theme
/< 2. sciences dealing with experiments
/< 3. sciences with research implications

« 4 sciences with social implications

Question ID : 5096476757
Status : Answered
Chosen Option : 4
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Question ID : 5096476747
Status : Answered
Chosen Option : 1
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Question ID : 5096476746
Status : Answered
Chosen Option : 3

Q9 wWhich of the following is not an aim of mathematics instruction?

Ans 1. To think and reason.
v 2. To memorize and recall formulae.

7< 3. To formulate and solve problems.

#< 4. To visualize and handle abstractions.

Question ID : 5096476750
Status : Answered
Chosen Option : 4
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Question ID : 5096476762
Status : Answered
Chosen Option : 1
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Question ID : 5096476755
Status : Answered
Chosen Option : 1
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Question ID : 5096476744
Status : Answered
Chosen Option : 4

Q13 7= ERr =R e # ¥ P T TR, 37F AT TR F R qF F T 27

Ans

X rcafas @er
X2 g ¥ geieg RFer
X 3 e o =TSt AT
v T H g

Question ID : 5096476754
Status : Answered
Chosen Option : 3

Q.14 According to the guidelines given by NCERT for teaching English for classes 6 to 8, the supplementary textbook is

Ans

designed for self-study, promoting reading for:

/< 1. pleasure only

« 2. both, information and pleasure

/< 3. completing the syllabus
/< 4 information only

Question ID : 5096476759
Status : Answered
Chosen Option : 2
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Question ID : 5096476745
Status : Answered
Chosen Option : 2
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Question ID : 5096476752
Status : Answered
Chosen Option : 1
Q17 Which is not a challenge for girls® education?
Ans

7< 1. Lack of infrastructural facility.

/< 2. Lack of female teachers.

/< 3. Societal feeling of insecurity about girls.

« 4 Discrimination based on religion or caste.

Question ID : 5096476753
Status : Answered
Chosen Option: 2

Q.18 According to research, what kind of language environments do educators use in a high-quality classroom?

Ans

/< 1. A variety of pictures and graphics.
o 2. A variety of experiments and practical work.
/< 3. A variety of analytical questions and complex problems.

/< 4 A variety of abstract words and complex sentences.

Question ID : 5096476758
Status : Answered
Chosen Option: 2




L

Q.19 Which of the following features makes distance education dynamic and exciting?
Ans o 1. Educational technology
« 2 Communication channels

/< 3. Contact classes

/< 4 Educational resources

Question ID : 5096476748
Status : Answered
Chosen Option : 1

Q.20 According to NCERT guidelines for teaching social science, newspapers should be used in the classrooms to:
Ans 3 1. to provide visuals on the topics learnt

X 2

to provide information that can help with their scientific research

< 3.

to provide pictures and graphics to make the news interesting

+ 4 to update on current history

Question ID : 5096476760
Status : Answered
Chosen Option : 4

Section : Concerned Subject Knowledge

Q@1 WWhich type of site is Durham in England?
Ans X 1. Harbour site

/< 2. Hill top site

« 3 Island site

#< 4 Sheltered site

Question ID : 5096476795
Status : Answered
Chosen Option : 1
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Question ID : 5096476785
Status : Answered
Chosen Option: 1
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Question ID : 5096476810
Status : Answered
Chosen Option: 1

Q4  The position of the sun. the moon and the earth in a straight line is called
Ans 5 1. Three-cell

v 2 Syzygy

/< 3. Dilation

# 4 Isanomalous line

Question ID : 5096476766
Status : Answered
Chosen Option : 2

@5 Which route was once considered the ‘Lifeline of Britain’?
Ans X 1. The Trans—Pacific route

#< 2. The North Atlantic route

' 3. The Mediterranean—Suez—Asiatic route

/< 4. The Cape of Good Hope route

Question ID : 5096476803
Status : Answered
Chosen Option : 3
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Question ID : 5096476770
Status : Answered
Chosen Option: 1
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Question ID : 5096476786
Status : Answered
Chosen Option: 3
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Question ID : 5096476776
Status : Answered
Chosen Option : 2

Q9 WWhat are ‘mackerel’ and ‘menhaden’?
Ans

o 1. Types of saltwater fish

/< 2. Types of trees in tropical areas

/< 3. Names of substances found in the bark of certain trees

/< 4 Names of Brazilian nuts

Question ID : 5096476805
Status : Answered
Chosen Option : 1
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Ans

#< 11932
v 2 1931
< 31930
<'4.1933

Question ID : 5096476771
Status : Answered
Chosen Option : 1

Q11 The telegraph was invented in the year

Ans

K 11846
X 2 1842
V3 1844
< 4 1848

Question ID : 5096476807
Status : Answered




l Chosen Option: 1
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Ans X1 Ctrl + F
v2Cirl+ N
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X4 Ctrl+ O
Question ID : 5096476792
Status : Answered
Chosen Option : 2
Q.13  As of January 2019, with the help of air transport no place in the world is more than _ hours away.
Ans X130
X2 25
<3 40

v 2 35

Question ID : 5096476809
Status : Answered
Chosen Option: 2
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Question ID : 5096476774
Status : Answered
Chosen Option : 3

Q15 YWho coined the term ‘conurbation’?

Ans X 1. M Johnson
' 2. Patrick Geddes
#< 3. Jean Gottmann
#< 4 Walter Christaller

Question ID : 5096476815
Status : Answered
Chosen Option : 2

Q.16 Which organisation maintains the upkeep of Pathankot-Tammu-Srinagar National Highway?

Ans 1. Central Public Works Department (CPWD)
< 2




Society for Promotion of Wastelands Development (SPWD)

< 3. Local authorities
+ 4 Border Roads Organisation (BRO)

Question ID : 5096476820
Status : Answered
Chosen Option : 4

Q17 wWhich of the following is NOT a cold oceanic current?

Ans 1. Falkland Current
v 2. Brazil Current
7< 3. Canary Current

/< 4 Labrador Current

Question ID : 5096476767
Status : Answered
Chosen Option : 2

Q.18
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Question ID : 5096476787
Status : Answered
Chosen Option : 4
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Ans X 1. 28 mph
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< 4. 50 mph
Question ID : 5096476789
Status : Answered
Chosen Option : 3
Q.20 The separate/s the Aravalli Range from the Vindhya Mountain Range.

Ans 1. Maikal Hills
« 2 Great Boundary Fault

/< 3. Western Ghats




/< 4 Narmada River

Question ID : 5096476781
Status : Answered
Chosen Option : 2

Q.21 wqyasr amH F@5F =T (PMGSY) #7 @87 #m#mﬂmﬁq@ﬁﬁﬂﬂﬁfa‘r
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Ans  of 1. 500
#2400
#< 3 550
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Question ID : 5096476812
Status : Answered
Chosen Option : 1
Q.22 Tmaginary lines that join the places of equal salinity at sea surface (on map) are called:
Ans X 1. Isohel
/< 2 Isohexane
/< 3. Isohyet
« 4 TIsohalines
Question ID : 5096476765
Status : Answered
Chosen Option : 4
Q23 Which capital is on a frontier situation?
Ans  of 1. Islamabad
X 2. Delhi
< 3. Moscow
< 4 Berlin
Question ID : 5096476797
Status : Answered
Chosen Option : 4
Q.24 Which method was used by Amrit Lal (1959) to determine the functional classification of Class-I cities of India?
Ans

+ . Location quotient method

/< 2. Standard deviation method
/< 3. Centre place method

< 4. Quartile deviation method

Question ID : 5096476817
Status : Answered
Chosen Option : 2




Q.25 Asper Koppen's classification, in which zone do plants thrive on almost permanently ice-covered arctic and polar areas

(say, in the Tundra region)?
Ans 1. Xerophytic zone
/< 2. Megathermal zone

' 3. Hekistothermal zone
/< 4 Mesothermal zone

Question ID : 5096476769
Status : Answered
Chosen Option : 3
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Question ID : 5096476822
Status : Answered
Chosen Option : 1

Q27 yWhat is the full form of the term ‘ESCAP*?
Ans X 1.

Economic and Social Commission on America and the Pacific

X 2

Environmental and Social Commission on Africa and the Pacific
+ 3. Economic and Social Commission for Asia and the Pacific
X 4

Environmental and Social Commission on Asia and the Pacific

Question ID : 5096476821
Status : Answered
Chosen Option : 4
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Ans X1, 3, 4
X2 2.3
<341
v, 2

Question ID : 5096476782
Status : Answered

Chosen Option : 4
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Question ID : 5096476783
Status : Answered
Chosen Option: 1
Q.30 Damodar Valley at Rajrappa in Hazaribagh is a typical example of a valley.

Ans o 1. Polycyclic
#< 2. Tricyclic
/< 3. Bicyclic
/< 4. Monocyclic

Question ID : 5096476777
Status : Answered

Chosen Option : 1

@31 Nfatch the following companies with their respective locations:

1) BALCO
2) Hindalco
3) MALCO
4) NALCO

Ans o1 1AC;2-A. 3-B.4D
X 2 1-D, 2-A, 3-B, 4-C
V3 1-C,2-A,3-D, 4B
X 4 1-A,2-B,3-C, 4D

A) Uttar Pradesh
B) Odisha

C) Chbhattisgarh
D) Tamil Nadu

Question ID : 5096476788




Status : Answered
Chosen Option : 3

Q.32 In which year was the ‘Urban Land (Ceiling and Regulation) Act” established by the government of India?

Ans X1, 1996
< 2 1986
v 3 1976
< 4 1966

Question ID : 5096476819
Status : Answered
Chosen Option : 4

Q33 YWhat is the full form of the term “OFC*?
Ans ' 1. Optic Fiber Cable

X 2. Optical Fiber Conference
/< 3. Optical Fiber Communication

/< 4. Optic Fiber Conference

Question ID : 5096476811
Status : Answered
Chosen Option: 3

Q34 T Germany. motorways are called

Ans o 1. Autobahns
/< 2. Nationalways

/< 3. AutoRoutes
/< 4 Autostrade

Question ID : 5096476801
Status : Answered
Chosen Option : 4
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Question ID : 5096476808
Status : Answered
Chosen Option: 1
Q.36

Ans “1.




Question ID : 5096476784
Status : Answered
Chosen Option : 3

Q.37
Ans « 1.
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X s
X 4
Question ID : 5096476794
Status : Answered
Chosen Option : 2
Q.38
Ans X 1.
X2
3
X 4
Question ID : 5096476802
Status : Answered
Chosen Option: 3
Q.39
Ans ( 1.
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X 4
Question ID : 5096476772
Status : Answered
Chosen Option: 1
Q.40
Ans

Question ID : 5096476804
Status : Answered
Chosen Option : 1
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Question ID : 5096476764
Status : Answered
Chosen Option: 3
Q.42
Ans X 1.
V2
X 3.
X 4
Question ID : 5096476814
Status : Answered
Chosen Option : 2
Q.43
Ans X 1.
v
X3
X 4
Question ID : 5096476796
Status : Answered
Chosen Option : 1
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Question ID : 5096476798
Status : Answered
Chosen Option : 3
Q.45
Ans X 1.
v 2
X 3.

Question ID : 5096476780
Status : Answered
Chosen Option : 2




